Comparative advantage - example

Let's say that there are two countries - Utopia and Happyland. These countries produce two products - hardware and software. With one unit of their resources they can each produce as shown in table 1 below.
	Table 1 Potential production - Utopia and Happyland

	 
	Hardware (units)
	Software (units)

	Utopia
	200
	1000

	Happyland
	100
	1500


This means that the opportunity cost ratios for each country are as follows:

Utopia - for every 1 unit of hardware they produce the opportunity cost is ___ units of software.

Happyland - for every 1 unit of hardware they produce the opportunity cost is ___ units of software.

This means that Utopia has a comparative advantage in the production of _______ware as for every unit of _______ware they produce they give up less _______ware. This makes them relatively more efficient at the production of _______ware.

However, this also means that Happyland have a comparative advantage in the production of _______ware as for every unit of _______ware they produce they only give up one fifteenth of a unit of _______ware, whereas Utopia have to give up one fifth of a unit.

We can see this clearly if we plot the production possibility frontiers for the two countries.
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Figure 1 PPF's for Happyland and Utopia pre-trade

Let's say that they choose to use half their resources on the production of each good. In this case, their consumption (pre-trade) will be as shown in table 2 below.

	Table 2 Pre-trade consumption

	 
	Hardware (units)
	Software (units)

	Utopia
	100
	500

	Happyland
	50
	750

	Total consumption
	150
	1250


If each country now specialises where they have a comparative advantage, then we will get production as shown in table 3.

	Table 3 Specialisation

	 
	Hardware (units)
	Software (units)

	Utopia
	_______
	_______

	Happyland
	_______
	_______

	Total production
	_______
	_______


We can see straight away that world production is greater, but each country has now only produced one good and, so once they have specialised, they will want to trade to get some of the other good. The _______ of trade (or exchange rate) that they trade at will be determined by the opportunity cost ratios we worked out in stage 1. The terms of trade will settle somewhere between the two opportunity cost ratios to ensure that both countries benefit.

Let's say they settle on an exchange rate of 1 unit of hardware = 10 units of software and that they agree to trade 75 units of hardware for 750 units of software. The position now will be as shown in table 4.

	 
	Hardware (units)
	Software (units)

	Utopia
	_______
	_______

	Happyland
	_______
	_______

	Total production
	_______
	_______


If we now draw the pre-trade and post-trade PPF's for each country we can clearly see as in figure 2 below how they are better off from specialisation and trade as they can now reach higher levels of consumption of both goods than was possible before specialisation.
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Figure 2 Production - post specialisation and trade

So, consumption increases through specialisation and trade compared to a situation of self-sufficiency. It remains the basic idea behind modern free trade. Despite these advantages many countries still protect their domestic trade.

